Level 1 Maths Use Multiplication Fact and Link with Division Exam Questions

Non-calculator Questions
City & Guilds
1.

4.978 x =4978

What is the missing number?

(1 mark)
2.
If 28 x 63 = 1764, what is 1764 + 637
(1 mark)

Highfield
3.

Use 6 x 8 = 48 to calculate the answer to 480 + 80

Write the answer in the box below. (1 mark)

Answer:




Level 1 Maths Use Multiplication Fact and Link with Division Exam Questions

AQA
4.
6 x14=2384

Use this information to work out 840 = 140
Circle your answer.

[1 mark]
0.6 6 60 600
5.
Use 5x16=80 toworkout 50 x 0.16
[1 mark]
Answer
Calculator Questions
City & Guilds
1.
140 x = 8400
(1 mark)



